NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL ATTACHMENT D: BID FORM

Company Name: _	Kick	Rochard	SIN	sc				
Business Address:	24605	53 ml	AD	Kust	myakka	45	FL	34251

To the City Commission of the City of North Port pursuant to and in compliance with your notice inviting sealed bids (Invitation to Bid), Instructions to Bidders, and the other documents relating thereto, the undersigned Bidder, having familiarized himself/herself with the terms of the Contract documents, local conditions affecting the performance of the Contract, and the cost of the work at the place where the work is to be done, hereby proposes and agrees to perform within the time stipulated in the Contract, including all of its component parts and everything required to be performed, and to provide and furnish any and all of the labor, material, tools, expendable equipment, and all utility and transportation services and design of certain items necessary to perform the Contract and complete in a workmanlike manner, all of the work required in connection with the construction of said work all in strict conformity with the plans and specifications and other Contract documents for the prices hereinafter set forth.

The undersigned, as Bidder, does hereby declare that he has read the Addend, Request for Bids, Instructions to Bidders, General Provisions, Special Provisions, Technical Specifications & Conditions, Bid Form, City Forms, Contract Drawings and or Plans, Attachments and Exhibits to this solicitation, Insurance Requirements, Permit Fees, Plan Revisions, Plans, and any other reports or documentation for: RFB NO. 2024-19 NRCS Funded Myakkahatchee Creek Maintenance Access and Debris Removal and further agrees to furnish all items listed on the attached Bid Form in accordance with the unit price line items as indicated on the bid schedule form(s) submitted. The above specified documents are herein incorporated into the Bid Form.

The undersigned as Bidder, declares that the only persons or parties interested in this submittal as principals are those named herein: that this submittal is made without collusion with any person, firm, or corporation: and he/she proposes and agrees, if the proposal is accepted, that he/she will execute a Contract with the City in the form set forth in the Contract documents and that he/she will accept in full payment thereof the following prices, to wit:

PROJECT TOTAL:	37cotts
Three MILLON FOURH, OD FORTY SI	x Nive Harden Trongson \$ 3,446,927.37
PRINT	NUMERICAL /

Through the signing of this Bid Form, Bidder attests his/her bid is guaranteed for a period of not less than **NINETY** (90) DAYS from the date of the official bid opening.

Date: 7/24/24

Signed (Person authorized to bind the company):

Name (printed): Charles Richards Title: President

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL ATTACHMENT E:

STATEMENT OF ORGANIZATION

The following information will be provided to the City of North Port for incorporation in legal documents. It is, therefore, vital all information is accurate and complete. Please be certain all spelling, and capitalization is exactly as registered with the state or federal government.

Company Name Rick Rich	1 200	TX		
La City Man	he m	4 PC		
941-322-2375 rrs	DE Q M	almt.	COM	
Telephone # E-1 24605 530 Av	Mail Kast	2	Fax #	
Main Office Address			3	361
Myskla CSTS	FL		34:	
Citý	State		Zip Co	de
Address of Office Servicing City of North P	ort, if differen	than above:	¥ SAN	ME AS ABOVE
Office Address	7.301.500			
City	State		Zip Co	de
Telephone # E-mail			Fax #	CO 2000 CO
Name & Title of Firm Representative		No. 1 . No. 1 April Company		
Federal Identification Number: 65-Bidder shall submit proof that it is authoritaw.	ized to do busi	ness in the St	ate of Fl	orida unless registration is not required
	(Ple	ase Check On	e)	
Is this a Florida Corporation:		Yes or	No	
If not a Florida Corporation, In what state was it created: Name as spelled in that State:				
What kind of corporation is it:	W"For	Profit"	or	"Not for Profit"
Is it in good standing:	}	Yes	or	□No
Authorized to transact business in Florida State of Florida Department of State Certi		Yes rity Docume	or nt No.:	□No
Does it use a registered fictitious name:		Yes	or	⊠No

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL

Vice President:	Treasurer:
Director:	Director:
Other:	Other:
Name of Corporation (As used in F	
Krck Kichards	JAL
(Spelled exactly as it	is registered with the state or federal government)
Corporate Address:	
Post Office Box:	24605 530 AV Rost Myakka Ct, FL. 34251
City, State Zip:	Myakka Ct, FL. 34251
Street Address:	
City, State, Zip:	
Date: 7/24/24	10
Signed (Person authorized to bind t	
Name (printed): Challes	Richards Title: President

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL ATTACHMENT F:

ADDENDA ACKNOWLEDGEMENT

The undersigned acknowledges receipt of the following addenda, and the cost, if any, of such revisions has been included in the bid price.

Addendum No.	7	Dated	7/2/24	Addendum No.	5	Dated	7/	19/24
Addendum No.	2 v 3	Dated	7/15/24	Addendum No.	0	Dated	131	5/24
Addendum No.	90 10	Dated	7/15/24	Addendum No.	+	Dated	1	7-7
Addendum No.	4	Dated	7/18/24	Addendum No.		Dated		

Addendum No. 4 Dated 777 Addendum No. Dated
BID BOND TERMS (SEE FORM NEXT PAGE)
(SEE FORIVI NEXT FAGE)
BID BOND: ACCOMPANYING THIS PROPOSAL IS BIDDERS BOND
(insert: "cash", "Bidder's bond", or "certified check", as the case may be) in an amount equal to at least 5% of the total
amount of the bid, payable to the <u>City of North Port</u> . Cashier's checks will be returned to all Bidders after award of bid. If supplying a bid bond please use the attached bid bond form. Note: Failure to submit a bid bond will be cause for rejection
ofbid.
The undersigned deposits the above-named security as a proposal guarantee and agrees that it shall be forfeited to the City as liquidated damages in case this proposal is accepted by the City and the undersigned fails to execute a Contract with the City as specified in the Contract documents accompanied by the required labor and material and faithful performance bonds with sureties satisfactory to the City, and accompanied by the required certificates of insurance coverage. Should the City be required to engage the services of an attorney in connection with the enforcement of this bid, Bidder promises to pay City's reasonable attorneys' fees incurred with or without suit.
The undersigned agrees, if awarded this bid, to furnish a PERFORMANCE AND PAYMENT BOND in the amount of 100% of the total project price within ten (10) calendar days after notification of award to the Purchasing Department. The undersigned shall be responsible and bear all costs associated to record Performance and Payment Bond with Sarasota County Clerk's Office. Receipt of said recording and a certified copy of the Bond shall be furnished to the Purchasing Division at the time of the pre-construction meeting.
All Contract documents (i.e.: performance and payment bond, cashier's check, bid bond) shall be in the name of "City
of North Port".
Date: 7/24/24
Signed (Person authorized to bind the company):
Name (printed): Choles Richards Title:
THIS PAGE MUST BE COMPLETED AND SUBMITTED

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL ATTACHMENT G

CITY OF NORTH PORT BID BOND

In Compliance with F.S. Chapter 255.051

STATE OF FLORIDA, CITY OF NORTH PORT	
KNOW ALL BY THESE PRESENTS, that Rick Richards,	, Inc authorized by law to do business as a
General Contractor in	the State of Florida, as Principal, and
Merchants National Bonding, Inc.	a Corporation chartered and existing under the laws of the
State of, as Surety, with its prin	ncipal offices in the City ofDes Moines, and authorized to do
business in the State of Florida, and in accordance with the City of North Port, Florida, in the full and just sum States of America, to be paid upon demand by the Cibind ourselves, our heirs, executors, administrators, a The condition of the obligation is such, that whereas the for (RFB NO. 2024-19 NRCS Funded Myakkahatchee	th Section 255.051, Florida Statues, are held and firmly bound unto of 5% of the Total Bid Price, in good and lawful money of the United ity of North Port, to which payment well and truly to be made, we and assigns, joint and severally and firmly by these presents. The Principal has submitted the attached Bid, dated 7/25/2024
after the prescribed forms are presented to him for sig in accordance with the bid as accepted and give a Po- sureties as may be required for the faithful perform payment of all persons furnishing labor or materials in Contract and give such bond within the time specified, specified in said bid and the amount for which the City	gnature enter into a written Contract with City of North Port, Florida, verformance and Payment Bond with good and sufficient surety or nance and proper fulfillment of such Contract and for the prompt in connection therewith or, in the event of failure to enter into such if the Principal shall pay the City the difference between the amount of may procure the required work and/or supplies provided the latter bid, then the above obligations shall be void: otherwise, to remain in
IN THE WITNESS WHEREOF, the above written parti 7/25/2024, the name and corporate seal of each cor its undersigned representative, pursuant to authority Witness as to Principal: (By) Witness as to Surety:	Rick Richards, Inc. (SEAL) (Principal) Choles Printed Name
Carol McManus Affix Corporate Seals and attach proper Power of	Merchants National Bonding, Inc. (Surety's Name) (By-As Attorney-in-Fact, Surety) Jarod M. Hawkins, Attorney-in-Fact and Licensed Florida Resident Agent/W034875 Phone (941) 366-8424 of Attorney for Surety.



Know All Persons By These Presents, that MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC., both being corporations of the State of Iowa, d/b/a Merchants National Indemnity Company (in California only) (herein collectively called the "Companies") do hereby make, constitute and appoint, individually,

Jared M. Hawkins; Robert Winchester Brown; Thomas W. Kochis

their true and lawful Attorney(s)-in-Fact, to sign its name as surety(ies) and to execute, seal and acknowledge any and all bonds, undertakings, contracts and other written instruments in the nature thereof, on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

This Power-of-Attorney is granted and is signed and sealed by facsimile under and by authority of the following By-Laws adopted by the Board of Directors of Merchants Bonding Company (Mutual) on April 23, 2011 and amended August 14, 2015 and adopted by the Board of Directors of Merchants National Bonding, Inc., on October 16, 2015.

"The President, Secretary, Treasurer, or any Assistant Treasurer or any Assistant Secretary or any Vice President shall have power and authority to appoint Attorneys-in-Fact, and to authorize them to execute on behalf of the Company, and attach the seal of the Company thereto, bonds and undertakings, recognizances, contracts of indemnity and other writings obligatory in the nature thereof."

"The signature of any authorized officer and the seal of the Company may be affixed by facsimile or electronic transmission to any Power of Attorney or Certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligations of the Company, and such signature and seal when so used shall have the same force and effect as though manually fixed."

In connection with obligations in favor of the Florida Department of Transportation only, it is agreed that the power and aut hority hereby given to the Attorney-in-Fact includes any and all consents for the release of retained percentages and/or final estimates on engineering and construction contracts required by the State of Florida Department of Transportation. It is fully understood that consenting to the State of Florida Department of Transportation making payment of the final estimate to the Contractor and/or its assignee, shall not relieve this surety company of any of its obligations under its bond.

In connection with obligations in favor of the Kentucky Department of Highways only, it is agreed that the power and authority hereby given to the Attorney-in-Fact cannot be modified or revoked unless prior written personal notice of such intent has been given to the Commissioner-Department of Highways of the Commonwealth of Kentucky at least thirty (30) days prior to the modification or revocation.

In Witness Whereof, the Companies have caused this instrument to be signed and sealed this 23rd day of May , 2024 .

TIONAL OF TONAL OF THE SERVICE OF TH

MERCHANTS BONDING COMPANY (MUTUAL)
MERCHANTS NATIONAL BONDING, INC.
d/b/a MERCHANTS NATIONAL INDEMNITY COMPANY

Jac

By

STATE OF IOWA COUNTY OF DALLAS ss.

On this 23rd day of May 2024, before me appeared Larry Taylor, to me personally known, who being by me duly sworn did say that he is President of MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC.; and that the seals affixed to the foregoing instrument are the Corporate Seals of the Companies; and that the said instrument was signed and sealed in behalf of the Companies by authority of their respective Boards of Directors.



Penni Miller

Commission Number 787952 My Commission Expires January 20, 2027

(Expiration of notary's commission does not invalidate this instrument)

I, William Warner, Jr., Secretary of MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC., do hereby certify that the above and foregoing is a true and correct copy of the POWER-OF-ATTORNEY executed by said Companies, which is still in full force and effect and has not been amended or revoked.

In Witness Whereof, I have hereunto set my hand and affixed the seal of the Companies on this 25th day of

July

, 2024 .

TIONA ON THE STATE OF THE SECRETARY

Secretary

Secretary

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL ATTACHMENT H

Condition

Leased/Owned

EQUIPMENT Equipment is located at: 24605 5310 AV First Walks 45 FL 34251

Please make sure your list of equipment contains the following: Description of equipment, inclusive of manufacturer, year and

Year

List the condition of equipment/vehicles utilized for this project in accordance with the following scale:

Manufacturer

1-Excellent: 2-Good: 3-Fair: 4-Poor. (Attach additional sheets, if required.)

condition.

Description

2. Primary Equil Excountion - Skid Steers, Excavators, Loaders
2. Primary Equil Excosation - SKID Stores, Excavators, Localess 3. Primary Canal Equilat - Chainsaws, Wincles, Boats, Argas
SOURCE OF SUPPLY AND SUBCONTRACTOR FORM
The following sources of supply and subcontractors shall be used for the 2024-19 NRCS Funded Myakkahatchee Creek Maintenance Access and Debris Removal. If Bidder does not have a source of supply or subcontractor, insert "to be determined". When a source or subcontractor is determined, selection will be subject to City approval. (If not applicable, state N/A)
SUBCONTRACTOR(S) (PLEASE INCLUDE ADDRESS/TELEPHONE NUMBER & E-MAIL)
1. TBD if Any
2
3.
SUPPLIER(S)
1. Tropic Oll
2. Haras Geo
3. <u>TBD</u>
Date: 7/24/24
Signed (Person authorized to bind the company):
Name (printed): Charles Richards Title: 160 Stoles
THIS PAGE MUST BE COMPLETED AND SUBMITTED

	RICK RICHARDS INC EQUIPMENT LIST	Qty	<u>4p</u>		Owne
	John Deere 7410 4X4	1		Excellent	Yes
	7220 John Deere W/ 24' Machete Boom Mower & Mulching Head ++	1	125	Excellent	Yes
	John Deere 6130 4X4 , w 620R Loader	1	105	Excellent	Yes
	21 Woods Bos Tractors	3	125	Excellent	Yes
	John Deere 6410 4X4	1	95	Excellent	Yes
Tractors	John Deere 5510 4X4	1	75	Excellent	Yes
	John Deere 4700 4X4	1	50	Excellent	Yes
	John Deere 4520 4X4	1	47	Excellent	Yes
	John Deere 3032 E	3		Excellent	Yes
	John Deere 955 (High Flotation Lgp)	4		Excellent	Yes
	Rhino Flex 20	8		Excellent	Yes
	Rhino Flex 20' (Lucas 64 Herbicide)	2	_	Excellent	Yes
	The state of the s	4	_	Excellent	Yes
	Rhino Sr 15			Excellent	Yes
Large Mowers	Bush Hog 84 Off Set	6	_		Yes
	Rhino Tw 72	3	-	Excellent	
	Rhino Tw 60	3	-	Excellent	Yes
	Bush Hog SE 84	4	-	Excellent	Yes
Small Mowers	Dixie Chopper & ExMark	_	27+	Excellent	Yes
	Finn Hydro Mulcher T90 & T75	2	-	Excellent	Yes
	Brillion Till N Seed	1		Excellent	Yes
Seeding Equipment	Brillion Turfmaker 5'	1	_	Excellent	Yes
	Brillion Turfmaker 8'	1	-	Excellent	Yes
	Brillion Turfmaker 6'	2		Excellent	Yes
	96 Malletti Kz80 72" Rotovator	1		Excellent	Yes
	22 Kuhn EL122-250 Rotovator	-		- " .	1
	08 18" Rotary Ditcher	1	4	Excellent	Yes
	Amco J43 28 28 Disc				
-0	20 Amco LOF 2424 Disc	1		Excellent	Yes
Tillage Equipment	04 Tufline 16-26 7' Cut 3600Lb (Fireline Maint.) Disc	1	<u> </u>	Excellent	Yes
	99 8' Field Cultivator (Fireline Maint.)	1	L	Excellent	Yes
	His Programme And Control of the Con				
			3	Excellent	yes
177 V - 17 V - 177 V -	Misc. Landscape Rakes And Grade Blades	*		Excellent	Yes
And Assessed	Airboats / Spray Boats w 30g - 50g Hp sprayer	4	4	Excellent	Yes
	150 Gal Skid Tanks		2	Excellent	Yes
Č	35 Gal Spot Sprayers	(5	Excellent	Yes
Sprayers	1000 Gal Skid Tank & 5.5 Honda Transfer Pump		2	Excellent	Yes
	UTV Sprayers Hp Sprayer		6	Excellent	Yes
	Misc. Back Pack Sprayers	20	0	Excellent	Yes
The state of the s	Iron King 22' Lawn Trailer		2	Excellent	Yes
Lawn Trailers	21 PJ 24' 14k Lawn Trailer		1	Excellent	Yes
WALL DE CONTRACTOR OF THE CONT	20' 6 Ton Equipment Trailer		2	Excellent	Yes
Equipment Trailers	7 x 20 Tilt Deck		4	Excellent	Yes
Equipment Transis	20 Hyd Dove 22' Equipment Trailer		2	Excellent	Yes
		THE RESERVE AND ADDRESS OF THE PERSON NAMED IN	4	Excellent	Yes
Dump Tasilara	05 7 X 14 Dump Trailer 17 7 x 14 Self Load Dump Trailer	_	2	Excellent	Yes
Dump Trailers		_	2	Excellent	Yes
	20 PJ 20' GN 30K DT Dump Trailer	-	_		The second
	99 32' 10 Ton Goose Neck Trailer		1	Excellent	_
Gooseneck Equipment Trailers	20 15 Ton PJ Hyd Dove 32'Gooseneck Equipment Trailer		1	Excellent	Yes
And the second s	20 PJ Hyd Dove 34'Gooseneck Equipment Trailer	_	1	Excellent	Yes
Enclosed Trailers	14' Wells Cargo Trailer		2	Excellent	
	6 X 10 Trailers (2) Welder/ Fuel	1 6	2	Excellent	Yes

	2019 Ford F350 4x4 CC FB	1	TE	xcellent	Yes
	2017 Ford CC F350 4x4	2			Yes
	2016 Ford F350 CC DRW 4x4	1	1	xcellent	Yes
	2016 Ford F350 Super Cab Service Body	2	1	Excellent	Yes
	2017 Ford F 450 CC Dump 12 yd	2		Excellent	Yes
	07 Ford F550 CC 4X4	1		Excellent	Yes
Trucks & Tree Trucks	07 Ford 650 W/Chip Box	1		Excellent	Yes
	08 Ford F650 FB	1		Excellent	Yes
	2017 Ford F550 4x4 Altec AT40G	1			Yes
	05 GMC W/55' Bucket Chip Combo	1	-		Yes
	11 Freightliner 25 yd Grapple Truck	1			Yes
		1			Yes
	06 Sterling W/75 Bucket	1		Production Colors	Yes
	21 Bandit 12 xp	2			Yes
Chippers	24 Bandit 15xpc	1			Yes
Constitute of Constitution	21 Bandit 20xp Tracked Whole Tree				Yes
	Vermeer Bc 2000XI 20"	1	7,000,000,000		1.605050
2 7 7	AFE & Mulchers	1		Excellent	Yes
Stump Grinders	21 Bandit SG 40	1	1707	Excellent Excellent	Yes
	22 Bandit SG 75	1	-	Excellent	Yes
na o conservo at trace participa	21 72 Platform Basket	3		Good	Yes
Aerial Lifts	23 Genie Z - 34 Lifts	1		Excellent	Yes
	Altec 37G 2021 Super Track Sk170 MX Excav w 125 D Denis Cimaf Mulcher	1	Annual Contraction	Excellent	Yes
	08 Super Trak Sk 400 W/ Fecon BH250	2		Excellent	Yes
	17 SuperTrac RTL 170 w Cimaf 225EL	1		Excellent	Yes
		1		Excellent	Yes
	15 Supertrak Sk 140 w Fecon BH 80 HDT	3		Excellent	Yes
	15 SuperTrak Takeuchi TL 150 W/ Fecon BH 85 & Cimaf DCR Heads		97	Excellent	Yes
	ASV 120 w Forestry Package	4			Yes
	16 PC 88 Komatsu Excavator w/ 12" Feller Buncher & Cimaf 085B	1		Excellent	Yes
	21 Cat 320 W/ Rotobec	1		Excellent	Yes
	22 Cat 313 w/ Rotbec	1		Excellent Excellent	Yes
Forestry Mowing ,Environmental	16 Komatsu PC 88 W/ Hultdins	1	405	THE STREET OF THE PARTY OF THE	Yes
Mulching & Forestry Equipment	23 Brown Tree Cutters	4		Excellent Excellent	Yes
	Brown Brush Monitor	1	125	Excellent	Yes
	18 New Holland TS6.120 4x4 Woods Boss Tractor	1			Yes
	14 New Holland TS6.120 4x4 Woods Boss Tractor	1	أحصا	Excellent	
	14 Deere 5100M 4x4 Woods Boss Tractor	1		Excellent	Yes
	22 Denis Cimaf DAH 085 (Excavator Mounted Mulcher)	8		Excellent	Yes
	Misc Feller Buncher Hot Saws, Grapple Saws & Shears	6		Excellent	Yes
	Misc. Forestry Mowers & Mulching Heads	*		Excellent	Yes
	AFE ECO Mulcher	4	0. 1122700	Excellent	Yes
	Misc Log Skidders, Log Grapples & Winches	6		Excellent	Yes
	21 Cat 320 Excavator	1		Excellent	-
	22 Cat 313 Excavator w/ Thumb , Grapple & Buckets	1		Excellent	Yes
	16 Komatsu Pc 88 Excavator w/ Shear, Grapple, Feller Buncher, Bucket,	1			
	Thumb, Helac & Rake			Excellent	Yes
	21 Cat 304 Excavator w/ Thumb , Grapple & Buckets	1	-	Excellent	Yes
	06 Komatsu D21 Dozer	1		Excellent	Yes
Earth Moving & Grading	23 Komatsu WA 200 B/ Bucket & Root Rake	1			
	21 Cat 908 M Loader w creep & Grapple Rake & Bucket	2		Excellent	Yes
	23 Sharp Grade Laser 116 Grading System				
	12 Kubota R520 w/Log Grapple, Grapple Rake & Bucket	1	_	Excellent	Yes
	Cat 287 Skid Steer	1	-	Excellent	Yes
	18 Marooka MST 700VD	1		Excellent	Yes
20 87 00000000	18 Bobcat T750 w/Log Grapple, Grapple Rake & Bucket	2	-	Excellent	Yes
	08 Supertrack SK 300 Forestry Tractor	1	-	Excellent	Yes
Roller Chopping Equipment	07 John Deere 9400 Forestry Tractor w /6 way Blade	1		Excellent	Yes
Toller Orlopping Equipment	16Marden M 10 Roller Chopper	2	2	Excellent	Yes
	16 Marden B 7 Roller Chopper	1 2		Excellent	Yes

	Right Of Way Trimmer Small & Medium	3	Excellent	Yes
	Right Of Way Trimmer (Eliminator) (Non Conductive)	1	Excellent	Yes
	Right Of Way Trimmer (Eliminator)	1	Excellent	Yes
Power Shearing (Hedgers)	20 Eliminator Mini Hedger	2	Excellent	Yes
Equipment	Misc Side Trimmers	3	Excellent	Yes
6.3	13 Magnum Finish Mulcher	3	Excellent	Yes
	Cat Th215 Telehandler W/Grapple	1	Excellent	Yes
	Additional Loaders W/Grapples Available (Not Listed)	3	Excellent	Yes
	Surface Drive Mud Boats	3	Excellent	Yes
	Airboats / Spray Boats	3	Excellent	Yes
	10' Jon Boat	4	Excellent	Yes
	12' Jon Boat	4	Excellent	Yes
	22 40' Shore Conveyor	1		Sent La Company
	24' Pontoon Boat/ Barge	1	Excellent	Yes
Work Boats & Aquatic Harvesters	2018 Argo Avenger	1	Excellent	Yes
	2020 Weedoo Aquatic Weed Harvester	2	Excellent	Yes
	2016 8 x 16 Barge			
	2023 Shore Conveyor			
	2018 Mobi trac Weed Harvester	2	Excellent	Yes
	2012 Marsh Master			
	24' Carolina Skiff	1	Excellent	Yes
3 - 14/11- 14/1 0014-	Stihl 261 Chainsaws w/ winches	2	Excellent	Yes
Hand Equipment	Stihl 660 Chainsaws	2	Excellent	Yes
	Stihl 261 Chainsaws	24	Excellent	Yes
	Stihl 460 Chainsaws	12	Excellent	Yes
	Stihl Ms 193 Chainsaws	8	Excellent	Yes
	Stihl Ms 200 T Chainsaws	5	Excellent	Yes
	Stihl Power Pruners	10	Excellent	Yes
	Stihl Extended Hedgers	12	Excellent	Yes
	Stihl 90 Weed/Brush Cutters	18	Excellent	Yes
	Stihl Br 420 Blowers	6	Excellent	Yes
Ground Protection Mat	10,000 sf Ground Protection Mat	150	Excellent	Yes

License Compilation

Additional Licenses, Certificates & Training as follows:

ISA Certified Arborist- Miguel Jaraz, Richard King, Alan Mcpherson, Colin Richards (Pending)

FDACS Herbicide Applicators License:

Richard King – Right of Way, Natural Areas, Aquatic, Limited Landscape, Commercial Fertilizer Charles Richards - Right of Way, Natural Areas, Aquatic Colin Richards - Natural Areas, Aquatic Miguel Jaraz - Natural Areas, Aquatic Ricardo Ramirez - Right of Way, Aquatic

Advanced MOT - Richard King

Intermediate MOT - Colin Richards, Miguel Jaraz

Certified Pile Burner - Richard King, Charles Richards & Colin Richards

Certified Habitat Evaluation – Colin Richards

Certified Environmentally Responsible Contractor - Rick Richards Inc.

FDOT IDDE - Rick Richards Inc & Key Personnel

IFAS BMP - Charles Richards, Richard King, Guadalupe Jaraz, Ricardo Ramirez

Hazmat Materials Operations/ OSHA Level II - Charles Richards, Richard King, Guadalupe Jaraz, Ricardo

Ramirez, Felix Carrizales, James King, Colin Richards

EHAP – Richard King, Charles Richards

Certified Gopher Tortoise Agent - Richard King GTA-12-00019, Colin Richards

Trained Endangered Wildlife Surveyors - Richard King, Charles Richards, Colin Richards

FSESCI Tier 1&2 - Lantz Gross, Colin Richards, Richard King

FSA - Colin Richards, Richard King, Hayden Sommers, James King, Kyle Richards

Feral Swine Transportation - Rick Richards Inc

FWC Non-Native Capture & Transport - EXOT 21-475 - Rick Richards Inc

IFAS Healthy Ponds - Richard King, Charles Richards

ProcellaCOR SC - Colin Richards, Richard King

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL ATTACHMENT I

QUALIFICATIONS AND REFERENCES

The Bidder (Company) shall have been in COMMERCIAL BUSINESS WITH EXPERIENCE in projects involving Canal debris removal. Bidder shall demonstrate successful completion of a minimum of two (2) projects completed within the past fifteen (15) years of similar size and scope to the 2024-19 NRCS Funded Myakkahatchee Creek Maintenance Access and Debris Removal

1. Business/Customer Name: Desoto County
Name of Contact Person/Title: Cirdy Talaned her c.talamantez@des otobocc.com
Telephone# 83-993-4816 E-mail CTalanestez Q desobboce.com
Address 210 E DAR St Arcadia FL 34266
Phone Number
Duration of Contract or business relationship $\frac{10/31/18 - 3/7/2018}{10/31/18 - 3/7/2018}$
Type of Services Provided
Contract Period: FROM SAA TO
Contract Price \$ 270, 374. 60 Contract Price at Completion of the Project \$ 492, 805. 60
2. Business/Customer Name: C. Ly of Verle
Name of Contact Person/Title: Steves Barens Storm Water Engineer
Telephone#941-882-7413 E-mail SBeress @ VericeFL-900
Address 401 U Verice AV Verice FL 34285
Phone Number SAA
Duration of Contract or business relationship 30 Days - 377,000.00
Type of Services Provided Clearing of Hurricase Jan debris from Curry si
Date: 1/23
Signed (Person authorized to bind the company):
Name (printed): Charles Title: Presidet

RFB NO. 2024-19

3. Business/Customer Name: Scrasola Court			
Name of Contact Person/Title: Tin Aldrid			
Telephone# 941-961-5434 E-mail Taldrick @Scgou Inet			
Address 8781 Beendye Rd Scrasofe F1 34240			
Contract Period: FROM 1887 TO Pres 4			
Contract Price \$ /M / Contract Price at Completion of the Project \$			
Phone Number See			
Duration of Contract or business relationship 1997 - Pres A			
Type of Services Provided ONgolds Contracts for Canal Clearist 1 m + Tree Land del			
Contract Period: FROM SAR TO			
Contract Price \$ S 144 Contract Price at Completion of the Project \$			
4. Business/Customer Name:			
Name of Contact Person/Title:			
Telephone# Fax E-mail			
Address			
Phone Number			
Duration of Contract or business relationship			
Type of Services Provided			
Contract Period: FROM TO			
Contract Price \$ Contract Price at Completion of the Project \$			
Signed (Person authorized to bind the company):			
Name (printed):			

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL

Attachment 5

CERTIFICATION REGARDING LOBBYING

The undersigned certifies, to the best of his or her knowledge, that:

- 1. No Federal appropriated funds have been paid or will be paid, by or on behalf of the undersigned, to any person for influencing or attempting to influence an officer or employee of an agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with the awarding of any Federal contract, the making of any Federal grant, the making of any Federal loan, the entering into of any cooperative agreement, and the extension, continuation, renewal, amendment, or modification of any Federal contract, grant, loan, or cooperative agreement.
- 2. If any funds other than Federal appropriated funds have been paid or will be paid to any person for influencing or attempting to influence an officer or employee of any agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with this Federal contract, grant, loan, or cooperative agreement, the undersigned shall complete and submit Standard Form-LLL, "Disclosure Form to Report Lobbying," in accordance with its instructions.
- 3. The undersigned shall require that the language of this certification be included in the award documents for all subawards at all tiers (including subcontracts, subgrants, and contracts under grants, loans, and cooperative agreements) and that all subrecipients shall certify and disclose accordingly.

This certification is a material representation of fact upon which reliance was placed when this transaction was made or entered into. Submission of this certification is a prerequisite for making or entering into this transaction imposed by 31, U.S.C. § 1352 (as amended by the Lobbying Disclosure Act of 1995). Any person who fails to file the required certification shall be subject to a civil penalty of not less than \$10,000 and not more than \$100,000 for each such failure.

The Contractor certifies or affirms the truthfulness and accuracy of each statement of its certification and disclosure, if any. In addition, the Contractor understands and agrees that the provisions of 31 U.S.C. § 3801 et seq., apply to this certification and disclosure, if any.

Signature of Contractor's Authorized Representative

Name

Title

Date

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL Attachment 6

NON-COLLUSIVE AFFIDAVIT

Before	me, the undersigned authority ("Affiant"), personally appeared:		
	who, being first duly sworn, deposes and says that:		
1.			
	the Respondent that has submitted the attached reply;		
2.	Affiant is fully informed respecting the preparation and contents of the attached reply and of all pertinent circumstances respecting such reply;		
3.	Such reply is genuine and is not a collusive or sham reply;		
	4. Neither the said Respondent nor any of its officers, partners, owners, agents, representatives, employees of parties in interest, including this affiant, have in any way colluded, conspired, connived or agreed, directly of indirectly, with any other respondent, firm, or person to submit a collusive or sham reply in connection with the work for which the attached reply has been submitted: or have in any manner, directly or indirectly sought by agreement or collusion, or communication or conference with any respondent, firm, or person to fix the price of prices in the attached reply or of any other respondent, or to fix any overhead, profit, or cost elements of the reply price or the reply price of any other respondent, or to secure through any collusion, conspiracy, connivance or unlawful agreement any advantage against (Recipient), or any person interested in the reply work. Signature Signature Signature Signature		
	Printed Name		
	Title		
	Title		
	SWORN ACKNOWLEDGMENT		
STATI	TY OF Manade		
Swor day o	n to (or affirmed) and subscribed before one lay means of physical presence or online notarization, this f		
Perso	onally Known OR Produced Identification		
Type	of Identification Produced FL DL		

Attachment 7 CONFLICT OF INTEREST FORM

Florida Statutes Section 112.313 places limitations on public officers (including advisory board members) and employees' ability to contract with the City of North Port, Florida ("City") either directly or indirectly.

PART I. [Select and complete all that apply]:			
I am an employee, public officer, or advisory board member of the City.			
Identify the position and/or board:			
I am the spouse or child of an employee, public officer, or advisory board member of the City.			
Identify the name of the spouse or child:			
I am an employee, public officer or advisory board member of the City, or my spouse or child, is an officer, partner, director, or proprietor of Respondent/Contractor or has a material interest in Contractor. "Material interest" means direct or indirect ownership of more than 5 percent of the total assets or capital stock of any business entity. For the purposes of Florida Statutes Section 112.313, indirect ownership does not include ownership by a spouse or minor child.			
Identify the name of the person and the entity			
Bidder/Contractor employs or contracts with an employee, public officer, or advisory board member of the City.			
Identify the name of the employee, public officer, or advisory board member			
None of the Above			
PART II: Will you request an advisory board member waiver?			
I WILL request an advisory board member waiver under §112.313(12)			
I WILL NOT request an advisory board member waiver under §112.313(12)			
<u></u> N/A			
The City will review any relationships which may be prohibited under the Florida Ethics Code and will disqualify any Contractor whose conflicts are not waived or exempt.			
Signature of Person Authorized to Bind the Contractor			
Printed Name			
Title 7/24/24			

Date

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL

Attachment 8 PUBLIC ENTITY CRIME INFORMATION

As provided by F.S. §287.133, a person or affiliate who has been placed on the convicted vendor list following a conviction for a public entity crime may not submit a bid on a Contract to provide any goods or services to a public entity, may not submit a bid on a Contract with a public entity for the construction or repair of a public building or public work, may not submit bids on leases of real property to a public entity, may not be awarded or perform work as a Contractor, supplier, Subcontractor, or Consultant under a Contract with any public entity, and may not transact business with any public entity in excess of the threshold amount provided in Section 287, for CATEGORY TWO for a period of 36 months from the date of being placed on the convicted vendor list.

I, checks Richards , being an authorized representative of the Contractor,			
have read and understand the contents above.			
I certify that the Contractor is not disqualified from replying to this solicitation/contracting because of Florida Statutes Section 287.133.			
Telephone #: 941-322-2375 Fax #:			
Federal ID#: 65-0699505 Email: Noise amail African			
Signature of Contractor's Authorized Representative			
Charles Richards Presided			
Name and Title of Contractor's Authorized Representative			
7/24/24			
Date			
SWORN ACKNOWLEDGMENT			
STATE OF FLORIDA COUNTY OF Man dee			
Sworn to (or affirmed) and subscribed before me by means of physical presence or online notarization, this day of 202 4 , by SZOZ/ZT/ZT sauldx3 6296ZTH #WWWD Ploud Alexand			
Notary Public - State of the state			
Personally Known OR Produced Identification			
Type of Identification Produced FL DL			

RFB NO. 2024-19

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL Attachment 9

DRUG FREE WORKPLACE FORM

The undersigned, in accordance with Florida Statutes Section 287.087, hereby certifies that the Contractor, (Company Name):

	300
1.	Publishes a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
2	Informs employees about the dangers of drug abuse in the workplace, the business's policy of maintaining a drug free workplace, any available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations.
3	. Gives each employee engaged in providing the commodities or Contractual services that are under bid a copy of the statement specified in subsection (1).
4	In the statement specified in subsection (1), notifies employees that, as a condition of working on the commodities or Contractual services that are under bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of Chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace no later than five (5) days after such conviction.
5	. Imposes a sanction on or require the satisfactory participation in a drug abuse assistance or rehabilitation program if such is available in the employee's community, by any employee who is so convicted.
6	. Makes a good faith effort to continue to maintain a drug free workplace through implementation of this section.

Charle ana	
<u>Check one:</u> As the person authorized	to sign this statement, I certify that this firm complies fully with above requirements.
As the person authorized	to sign this statement, this firm does not comply fully with the above requirements.
	Signature de Qual
	Printed Name
	Title 7/25 Date 7/24/24

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL Attachment 10

SWORN STATEMENT: THE FLORIDA TRENCH SAFETY ACT

1.	This Sworn Statement is submitted with Contract No. 2024-22 for the construction of 2023 Water Distribution and Bridge Water Main Replacement.
2.	This Sworn Statement is submitted by Red Rich Red Tree ("Contractor") whose business address is 2465 630 AV Red mullicets Rand (if applicable) its Federal Employer Identification Number (FEIN) is 65-8699565
3.	The Trench Safety Standards that will be in effect during the construction of this Project are Florida Statute Section 553.60-55.64, Trench Safety Act, and OSHA Standard. Not copplied the
4.	The undersigned assures that the entity will comply with the applicable Trench Safety Standards and agrees to indemnify and hold harmless the County and ENGINEER, and any of their agents or employees from any claims arising from the failure to comply with said standard.
5.	The Contractor has appropriated \$ per linear foot of trench to be excavated over 5' deep for compliance with the applicable standards and intends to comply by instituting the following procedures:
6.	The Contractor has appropriated \$ 0.80 per square foot for compliance with shoring safety requirements and intends to comply by instituting the following procedures:
7.	The undersigned, in signing this Sworn Statement, represents that he or she has reviewed and considered all available geotechnical information and made such other investigations and tests as he or she may deem necessary to adequately design the trench safety system(s) the Contractor will utilize on this Project.
	Signature Rules
	Name Pres
	Title
	SWORN ACKNOWLEDGEMENT
	DUNTY OF mender
o <u>f</u>	vorn to (or affirmed) and subscribed before me by means of \square physical presence or \square online notarization, this $2 - 20$ and 20 and 20 are parameters. (title) for Notary Public State of Florida Comm# HH179679 Personally Known OR \square Produced Identification
T	pe of Identification Produced

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL

Attachment 11

SCRUTINIZED COMPANY CERTIFICATION FORM

Email Address: VO ACO

A company is ineligible to, and may not, bid on, submit a proposal for, or enter into or renew a Contract with the City of North Port for goods or services of any amount if, at the time of bidding on, submitting a proposal for, or entering into or renewing such Contract, the company is on the Scrutinized Companies that Boycott Israel List, created pursuant to Florida

Contractor Name:

Authorized Representative Name and Title:

Phone Number: 941-322-2375

Statutes, section 215.4725, or is engaged in a boy	cott of Israel.
North Port for goods or services of \$1 million or n into or renewing such Contract, the company is or	ubmit a proposal for, or enter into or renew a Contract with the City of more if, at the time of bidding on, submitting a proposal for, or entering in the Scrutinized Companies with Activities in Sudan List, the Scrutinized mergy Sector List, created pursuant to Florida Statutes, section 215.473, is in Cuba or Syria.
CHOOSE ONE OF THE FOLLOWING	
	Is or services of less than \$1 million. As the person authorized to sign on is required by Florida Statutes Section 287.135(5), I hereby certify that ing in a boycott of Israel.
authorized to sign on behalf of the above-na hereby certify that the above-named comp	enewal is for goods or services of \$1 million or more. As the person amed company, and as required by Florida Statutes Section 287.135(5), I any is not participating in a boycott of Israel, is not on the Scrutinized the Scrutinized Companies with Activities in the Iran Petroleum Energy perations in Cuba or Syria.
	ection 287.135, the submission of a false certification may result in the and may subject the above-named company to civil penalties, attorney's
	Certified By:
_	all
S	Signature of Contractor's Authorized Representative
_	Charles Richard
ı	Name
_	Probland
:-	

7/24/24

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL Attachment 12

VENDOR'S CERTIFICATION FOR E-VERIFY SYSTEM

The undersigned Vendor/Consultant/Contractor (Vendor), after being duly sworn, states the following:

- 1. Vendor is a person or entity that has entered into or is attempting to enter into a contract with the City of North Port (City) to provide labor, supplies, or services to the City in exchange for salary, wages or other renumeration.
- 2. Vendor has registered with and will use the E-Verify System of the United States Department of Homeland Security to verify the employment eligibility of:
 - a. All persons newly hired by the Vendor to perform employment duties within Florida during the term of the contract; and
 - b. All persons, including sub-contractors, sub-vendors or sub-consultants, assigned by the Vendor to perform work pursuant to the contract with the City.
- 3. If the Vendor becomes the successful Contractor who enters into a contract with the City, then the Vendor will comply with the requirements of Section 448.095, Fla. Stat. "Employment Eligibility", as amended from time to time.
- 4. Vendor will obtain an affidavit from all subcontractors attesting that the subcontractor does not employ, contract with, or subcontract with, an unauthorized alien as defined in 8 United States Code, Section 1324A(H)(3).
- 5. Vendor will maintain the original affidavit of all subcontractors for the duration of the contract.
- 6. Vendor affirms that failure to comply with the state law requirements can result in the City's termination of the contract and other penalties as provided by law.
- 7. Vendor understands that pursuant to Florida Statutes, section 448.095, the submission of a false certification may result in the termination of the contract if one is entered into, and may subject the Vendor named in this certification to civil penalties, attorney's fees and costs.

VENDOR: Rich Richards To (Vendor's Company Name)
Certified By:
AUTHORIZED REPRESENTATIVE SIGNATURE
Print Name and Title: Charles Prohends
Date Certified: 7/24/24

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL Attachment 13

CERTIFICATION BY BIDDER

Executive Order 11246 (contracts/subcontracts above \$10,000)

This certification is required pursuant to Executive Order 11246 (30 F.R. 12319-25). The implementing rules and regulations provide that any bidder or prospective contractor, or any of their proposed subcontractors, shall state as an initial part of the bid or negotiations of the contract whether it has participated in any previous contract or subcontract subject to the equal opportunity clause; and if so, whether it has filed all compliance reports due under applicable instructions.

Where the certification indicates that the bidder has not filed a compliance report due under applicable instructions, such bidder shall be required to submit a compliance report within seven calendar days after the ITB opening. No contract shall be awarded unless such report is submitted.

NAME AND ADDRESS OF BIDDER (include ZIP Code): Rick Richards IX 24605 5310 AD Trast Myakka CTS FC 34251
1. Bidder has participated in a previous contract or subcontract subject to the Equal Opportunity Clause. [] No [] 2. Compliance reports were required to be filed in connection with such contract or subcontract. Yes [No]
3. bidder has filed all compliance reports due under applicable instructions.
4. Have you ever been or are you being considered for sanction due to violation of Executive Order 11246, as amended? Yes [] No.
Signed, sealed and delivered this 24 day of 14, 2024. By:
(Printed Name) (Printed Name) (Title) STATE OF FL COUNTY OF Manuface
Sworn to and subscribed before me this 24 day of

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL ATTACHMENT 14

CERTIFICATION REGARDING DEBARMENT, SUSPENSION, AND OTHER RESPONSIBILITY MATTERS PRIMARY COVERED TRANSACTIONS

This contract is a covered transaction for purposes of 2 C.F.R. pt. 180 and 2 C.F.R. pt. 3000.

The Bidder certifies that, neither the firm nor any person associated therewith in the capacity of owner, partner, director, officer, principal, investigator, project director, manager, auditor, and/or position involving the administration of federal funds:

- (a) is presently debarred, suspended, proposed for debarment, declared ineligible, or voluntarily excluded from covered transactions, as defined in 49 CFR s29.110(a), by any federal department or agency;
- (b) has within a three-year period preceding this certification been convicted of or had a civil judgment rendered against it for: commission of fraud or a criminal offense in connection with obtaining, attempting to obtain, or performing a federal, state, or local government transaction or public contract; violation of federal or state antitrust statutes; or commission of embezzlement, theft, forgery, bribery, falsification or destruction of records, making false statements, or receiving stolen property;
- (c) is presently indicted for or otherwise criminally or civilly charged by a federal, state, or local governmental entity with commission of any of the offenses enumerated in paragraph (b) of this certification; and
- (d) has within a three-year period preceding this certification had one or more federal, state, or local government public transactions terminated for cause or default.

The Bidder certifies that it shall not knowingly enter into any transaction with any subcontractor, material supplier, or vendor who is debarred, suspended, declared ineligible, or voluntarily excluded from participation in this project by any federal agency unless authorized by the City of North Port.

The Bidder must comply with 2 C.F.R. pt. 180, subpart C and 2 C.F.R. pt. 3000, subpart C and must include a requirement to comply with these regulations in any lower tier covered transaction it enters into.

This certification is a material representation of fact relied upon by the City of North Port. If it is later determined that the contractor did not comply with 2 C.F.R. pt. 180, subpart C and 2 C.F.R. pt. 3000, subpart C, in addition to remedies available to the City of North Port, the Federal Government may pursue available remedies, including but not limited to suspension and/or debarment.

The bidder or proposer agrees to comply with the requirements of 2 C.F.R. pt. 180, subpart C and 2 C.F.R. pt. 3000, subpart C while this offer is valid and throughout the period of any contract that may arise from this offer.

The hidder or proposer fur		a provision requiring such co	empliance in its lower tier covered trans	actions.
Company (Bidder) Name	Secretary Secret	Tax ID Number	DUNS Number	
Chades B	charle			
Authorized Representative	Name	Authorized Representative	Signature	
SAR				
Federal Issued Tax	DUNS Number	CAGE Co	de issued through www.sam.gov	
Identification Number (If Social Security number	DO NOT enter)	DATE: 7/	24/24	

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL ATTACHMENT 15

CERTIFICATIONS AND REPRESENTATIONS

(GRANTFUNDS)

1. BYRD ANTI-LOBBYING AMENDMENT COMPLIANCE AND CERTIFICATION
For all orders above the limit prescribed in 2 CFR 215, Appendix A, Section 7 (currently \$100,000), the Offeror must complete and sign the following:

The following certification and disclosure regarding payments to influence certain federal transactions are made per the provisions contained in OMB Circular A-110 and 31 U.S.C. 1352, the "Byrd Anti-Lobbying Amendment."

The offeror, by signing its offer, hereby certifies to the best of his or her knowledge and belief that:

No Federal appropriated funds have been paid or will be paid to any person for influencing or attempting to influence an officer or employee of any agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress on his or her behalf in connection with the awarding of any Federal contract, the making of any Federal grant, the making of any Federal loan, the entering into of any cooperative agreement, and the extension, continuation, renewal, amendment or modification of any Federal contract, grant, loan, or cooperative agreement;

If any funds other than Federal appropriated funds (including profit or fee received under a covered Federal transaction) have been paid, or will be paid, to any person for influencing or attempting to influence an officer or employee of any agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress on his or her behalf in connection with this solicitation, the offeror shall complete and submit, with its offer, OMB standard form LLL, Disclosure of Lobbying Activities, to the Contracting Officer; and

He or she will include the language of this certification in all subcontract awards at any tier and require that all recipients of subcontract awards in excess of \$100,000 shall certify and disclose accordingly.

This certification is a material representation of fact upon which reliance is placed when this transaction was made or entered into. Submission of this certification and disclosure is a prerequisite for making or entering into this contract imposed by section 1352, title 31, United States Code. Any person making an expenditure prohibited under this provision or who fails to file or amend the disclosure form to be filed or amended by this provision, shall be subject to a civil penalty of not less than \$10,000, and not more than \$100,000, for each such failure.

SIGNATURE:

DATE:

COMPANY NAME: Rick Richards FAC

ATTACHMENT 16 ACKNOWLEDGEMENT OF TERMS, CONDITIONS, AND GRANT CLAUSES

Flow down of Terms and Conditions from the Federal Regulations and/or Grant Agreement

Subcontracts: If the Bidder subcontracts any portion of the work under this Agreement, a copy of the signed subcontract must be available to the City of North Port for review and approval. The bidder agrees to include in the subcontract that:

- (1) the subcontractor is bound by the terms of this Agreement;
- (2) the subcontractor is bound by all applicable state and federal laws and regulations; and
- (3) the subcontractor shall hold the City of North Port, grant recipient and granting agency harmless against all claims of whatever nature arising out of the subcontractor's performance of work under this Agreement, to the extent allowed and required by law.

Grant Conditions and Federal Provisions

On behalf of the Bidder, I acknowledge, and agree to perform all of the specifications and grant requirements identified in this solicitation document(s).

SIGNATURE:			
COMPANY NAME: Richards TX			
DATE: 7/24/24			

NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL ATTACHMENT 17

FEDERAL NON-COLLUSION /LOBBYING CERTIFICATION

Charles Richards	, being the authorized	Agent, cer	tifies that He	she is the
President		(Owner	The state of the s	Officer,
Representative or Agent) of Rock	Richards Tre, the Bidder	that has	submitted the	attached
Proposal.				

NON-COLLUSION PROVISION CERTIFICATION

The undersigned hereby certifies, to the best of his or her knowledge and belief, that on behalf of the person, firm, association, or corporation submitting the bid certifying that such person, firm, association, or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action, in restraint of free competitive bidding in connection with the submitted bid. Failure to submit the executed statement as part of the bidding documents will make the bid nonresponsive and not eligible for award consideration.

LOBBYING CERTIFICATION

"The undersigned hereby certifies, to the best of his or her knowledge and belief, that:

- (a) No Federal appropriated funds have been paid or will be paid, by or on behalf of the undersigned, to any person for influencing or attempting to influence either directly or indirectly an officer or employee of any state or federal agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with the awarding of any Federal Contract, the making of any Federal grant, the making of any Federal loan, the entering into of any cooperative agreement, and the extension, continuation, renewal, amendment, or modification of any Federal contract, grant, loan, or cooperative agreement.
- (b) If any funds other than Federal appropriated funds have been paid or will be paid to any person for influencing or attempting to influence an officer or employee of any agency, a member of Congress, an officer or employee of Congress, or an employee of a member of Congress in connection with this Federal contract, grant loan, or cooperative agreement, the undersigned shall complete and submit Standard Form-L "Disclosure Form to Report Lobbying", in accordance with its instructions.
- (c) The undersigned shall require that the language of this certification be included in the award documents for all subawards at all tiers (including subcontracts, subgrants, and contracts under grants, loans, and cooperative agreements) and that all subrecipients shall certify and disclose accordingly. This certification is a material representation of fact upon which reliance was placed when this transaction was made or entered into.

Submission of this certification is a prerequisite for making or entering into this transaction imposed by section 1352, title 31, US Code. Any persons who fail to file the required certification shall be subject to a civil penalty of not less than \$10,000 and not more than \$100,000 for each failure."

Witness

(Printed Name)

(Title)

PERFORMANCE AND PAYMENT BOND

In compliance with F.S. Section 255.05(10) and Code of the City of North Port Sec. 2-414

BOND NO.:	
BOND AMOUNT:	\$ 172,346.36
	NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENACE
CONTRACTOR NAME:	ACCESS AND DEBRIS REMOVAL
PRINCIPAL ADDRESS:	Brek Richards 200
PRINCIPAL PHONE NO.:	24605 531 AU 1508+ mystke city FE 34251 941-322-2375
SURETY COMPANY NAME:	Merchosts
SURETY AGENT:	ATLES
PRINCIPAL ADDRESS:	7/20 Berso Rd Small Fl 34238-2850
PRINCIPAL PHONE NO.:	
PRINCIPAL PHONE NO.:	941-366-8424
CITY NAME:	City of North Port, Florida
PRINCIPAL ADDRESS:	4970 City Hall Boulevard
	North Port, Florida 34286
CITY CONTACT PHONE NO.:	(941) 223.4138
CONTRACT NO.: (if applicable) PROJECT ADDRESS:	2024-22
(if applicable)	North Port, Florida
DESCRIPTION OF PROJECT: (if applicable) DESCRIPTION OF IMPROVEMENT:	As pascond in Plans

AFFIDAVIT OF COMPLIANCE WITH ANTI-HUMAN TRAFFICKING LAWS

In accordance with section 787.06 (13), Florida Statutes, the undersigned, on behalf of the entity listed below ("Entity"), hereby attests under penalty of perjury that:

Entity does not use coercion for labor or services as defined in Section 787.06, Florida Statutes, entitled "Human Trafficking".

The undersigned is authorized to execute this affidavit on behalf of Entity.

Date: 7/24/ , 20,24

Signed: _

Name

RFB NO. 2024-19 NRCS FUNDED MYAKKAHATCHEE CREEK MAINTENANCE ACCESS AND DEBRIS REMOVAL PROJECT

ACCESS PATH							
PAY ITEM	DESCRIPTION	UNIT	QUANTITY		UNIT COST		EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$	2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$	1,500.00
0104 10 3	SEDIMENT BARRIER	LF	2316	\$	2.35	\$	5,441.94
	SOIL TRACKING PREVENTION					1	(
0104 15	DEVICE	EA	2	\$	1,000.00	\$	2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	1.81	\$	13,000.00	\$	23,497.43
	DEBRIS REMOVAL & DISPOSAL,						
120 "A"	TRUCK MEASURE - OFFSITE	CY	264	\$	683.00	\$	180,312.00
	DEBRIS REMOVAL & DISPOSAL,			BOX HATELY	100000000000000000000000000000000000000		
120 "B"	TRUCK MEASURE - ONSITE	CY	40	\$	128.00	\$	5,120.00
0120 1	REGULAR EXCAVATION	CY	428.8	\$	12.92	\$	5,540.57
0160 4	TYPE B STABILIZATION	SY	4588	\$	24.85	\$	114,019.09
	OPTIONAL BASE, BASE GROUP 4						3/4 (0.00)
	(RECYCLED CONCRETE						
0285704	AGGREGATE, LBR 150 ONLY)	SY	3824	\$	10.65	\$	40,721.10
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	2058	\$	5.24	\$	10,786.11
	PLASTIC EROSION MAT, TURF						
0571 111	REINFORCED MAT, TYPE 1	SY	2316	\$	4.75	\$	10,999.67
	SIGN PANEL, FURNISH & INSTALL						
	GROUND MOUNT, LESS THAN 12						
0700 1 111	SF	EA	2	\$	750.00	\$	1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA	4	\$	1,725.00	\$	6,900.00
, J 1 /	, and the second		SUB-T	-	THE RESERVE OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAME	\$	410,837.92

ACCESS PATH 2 (BL 02)

PAY ITEM	DESCRIPTION	UNIT	QUANTITY		UNIT COST	EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$ 2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$ 1,500.00
0104 10 3	SEDIMENT BARRIER	LF	1033	\$	2.35	\$ 2,426.56
	SOIL TRACKING PREVENTION					
0104 15	DEVICE	EA	2	Carlotte Comment	1,000.00	\$ 2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	0.81	\$	13,000.00	\$ 10,477.51
	DEBRIS REMOVAL & DISPOSAL,					
120 "A"	TRUCK MEASURE - OFFSITE	CY	120	\$	683.00	\$ 81,960.00
	DEBRIS REMOVAL & DISPOSAL,					
120 "B"	TRUCK MEASURE - ONSITE	CY	32	\$	128.00	\$ 4,096.00
0120 1	REGULAR EXCAVATION	CY	191.2	\$	12.92	\$ 2,470.54
0160 4	TYPE B STABILIZATION	SY	1377	\$	24.85	\$ 34,212.82
	OPTIONAL BASE, BASE GROUP 4					
	(RECYCLED CONCRETE					
0285704	AGGREGATE, LBR 150 ONLY)	SY	1147	\$	10.65	\$ 12,218.86
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	918	\$	5.24	\$ 4,809.53
	PLASTIC EROSION MAT, TURF			T		
0571 111	REINFORCED MAT, TYPE 1	SY	1033	\$	4.75	\$ 4,904.76
	SIGN PANEL, FURNISH & INSTALL					
	GROUND MOUNT, LESS THAN 12	8				
0700 1 111	SF	EA	2	\$	750.00	\$ 1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA	4	\$	1,725.00	\$ 6,900.00
	I was a second		SUB-T		The second second second second second	\$ 171,976.58

ACCESS PATH 3 (BL 03)

PAY ITEM	DESCRIPTION	UNIT	QUANTITY	A, S	UNIT COST		EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$	2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$	1,500.00
0104 10 3	SEDIMENT BARRIER	LF	1437	\$	2.35	\$	3,377.56
	SOIL TRACKING PREVENTION			()			
0104 15	DEVICE	EA	2	\$	1,000.00	\$	2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	1.12	\$	13,000.00	\$	14,583.77
	DEBRIS REMOVAL & DISPOSAL,						
120 "A"	TRUCK MEASURE - OFFSITE	CY	96	\$	683.00	\$	65,568.00
	DEBRIS REMOVAL & DISPOSAL,				1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -		
120 "B"	TRUCK MEASURE - ONSITE	CY	16	\$	128.00	\$	2,048.00
0120 1	REGULAR EXCAVATION	CY	266.2	\$	12.92	\$	3,438.78
0160 4	TYPE B STABILIZATION	SY	1916	\$	24.85	\$	47,621.21
	OPTIONAL BASE, BASE GROUP 4	Y.					
	(RECYCLED CONCRETE	V					
0285704	AGGREGATE, LBR 150 ONLY)	SY	1597	\$	10.65	\$	17,007.58
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	1278	5	5.24	\$	6,694.44
03/0 1 2	PLASTIC EROSION MAT, TURF	31	12/0	1	3.24	7	0,034.44
0571 111	REINFORCED MAT, TYPE 1	SY	1437	\$	4.75	\$	6,826.99
03/1 111	SIGN PANEL, FURNISH & INSTALL	31	1 170	1		7	0,020.55
	GROUND MOUNT, LESS THAN 12						
0700 1 111	(A) O K	EA	2	\$	750.00	\$	1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA		\$	1,725.00	\$	6,900.00
731 //		1	SUB-T	1		\$	181,566.32

ACCESS PATH 4 (BL 04)

PAY ITEM	DESCRIPTION	UNIT	QUANTITY		UNIT COST	EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$ 2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$ 1,500.00
0104 10 3	SEDIMENT BARRIER	LF	2196	\$	2.35	\$ 5,160.32
,	SOIL TRACKING PREVENTION					
0104 15	DEVICE	EA	2	\$	1,000.00	\$ 2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	1.71	\$	13,000.00	\$ 22,281.43
	DEBRIS REMOVAL & DISPOSAL,					
120 "A"	TRUCK MEASURE - OFFSITE	CY	336	\$	683.00	\$ 229,488.00
	DEBRIS REMOVAL & DISPOSAL,					
120 "B"	TRUCK MEASURE - ONSITE	CY	64	_	128.00	\$ 8,192.00
0120 1	REGULAR EXCAVATION	CY	406.6		12.92	\$ 5,253.85
0160 4	TYPE B STABILIZATION	SY	2928	\$	24.85	\$ 72,756.82
	OPTIONAL BASE, BASE GROUP 4					
	(RECYCLED CONCRETE					
0285704	AGGREGATE, LBR 150 ONLY)	SY	2440	\$	10.65	\$ 25,984.58
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	1952	\$	5.24	\$ 10,227.92
	PLASTIC EROSION MAT, TURF					
0571 1 11	REINFORCED MAT, TYPE 1	SY	2196	\$	4.75	\$ 10,430.43
	SIGN PANEL, FURNISH & INSTALL					
	GROUND MOUNT, LESS THAN 12	ē		1		
0700 1 111	SF	EA	2	\$	750.00	\$ 1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA	4	\$	1,725.00	\$ 6,900.00
	l .		SUB-T	OT	AL	\$ 404,175.35

ACCESS PATH 5 (BL 05)

PAY ITEM	DESCRIPTION	UNIT	QUANTITY		UNIT COST		EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$	2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$	1,500.00
0104 10 3	SEDIMENT BARRIER	LF	1047	\$	2.35	\$	2,460.24
	SOIL TRACKING PREVENTION	Age (100 - 100)					
0104 15	DEVICE	EA	2	\$	1,000.00	\$	2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	0.82	\$	13,000.00	\$	10,622.92
	DEBRIS REMOVAL & DISPOSAL,						
120 "A"	TRUCK MEASURE - OFFSITE	CY	48	\$	683.00	\$	32,784.00
	DEBRIS REMOVAL & DISPOSAL,						
120 "B"	TRUCK MEASURE - ONSITE	CY	36	\$	128.00	\$	4,608.00
0120 1	REGULAR EXCAVATION	CY	193.9	\$	12.92	\$	2,504.83
0160 4	TYPE B STABILIZATION	SY	1396	\$	24.85	\$	34,687.62
	OPTIONAL BASE, BASE GROUP 4						
	(RECYCLED CONCRETE						
0285704	AGGREGATE, LBR 150 ONLY)	SY	1163	\$	10.65	\$	12,388.44
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	931	\$	5.24	\$	4,876.27
0370 1 2	PLASTIC EROSION MAT, TURF	<u> </u>	1 332	Ť	J	Ť	
0571 111	REINFORCED MAT, TYPE 1	SY	1047	\$	4.75	\$	4,972.82
03/1 111	SIGN PANEL, FURNISH & INSTALL			Ť			No. of the last of
K.	GROUND MOUNT, LESS THAN 12			ľ			
0700 1 111	SF	EA	2	\$	750.00	\$	1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA	4	\$	1,725.00	\$	6,900.00
731 /			SUB-T			\$	124,305.13

ACCESS PATH 6 (BL 06)

PAY ITEM	DESCRIPTION	UNIT	QUANTITY		UNIT COST		EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$	2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$	1,500.00
0104 10 3	SEDIMENT BARRIER	LF	1653	\$	2.35	\$	3,883.47
	SOIL TRACKING PREVENTION						
0104 15	DEVICE	EA	2	\$	1,000.00	\$	2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	1.29	\$	13,000.00	\$	16,768.20
	DEBRIS REMOVAL & DISPOSAL,					V.	
120 "A"	TRUCK MEASURE - OFFSITE	CY	144	\$	683.00	\$	98,352.00
	DEBRIS REMOVAL & DISPOSAL,						
120 "B"	TRUCK MEASURE - ONSITE	CY	36		128.00	\$	4,608.00
0120 1	REGULAR EXCAVATION	CY	306.0	\$	12.92	\$	3,953.85
0160 4	TYPE B STABILIZATION	SY	2203	\$	24.85	\$	54,754.16
	OPTIONAL BASE, BASE GROUP 4						
	(RECYCLED CONCRETE						
0285704	AGGREGATE, LBR 150 ONLY)	SY	1836	\$	10.65	\$	19,555.06
V	The section of the se	200000	S. W. Sanda	190	84 % 25 GAY		
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	1469	\$	5.24	\$	7,697.16
	PLASTIC EROSION MAT, TURF	di serenci	W RECOVERS				
0571 1 11	REINFORCED MAT, TYPE 1	SY	1653	\$	4.75	\$	7,849.57
10-111-1105	SIGN PANEL, FURNISH & INSTALL						
	GROUND MOUNT, LESS THAN 12						
0700 1 111	SF	EA	2	\$	750.00	\$	1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA	4	\$	1,725.00	\$	6,900.00
			SUB-T			\$	231,821.47

ACCESS PATH 7 (BL 07)

PAY ITEM	DESCRIPTION	UNIT	QUANTITY	Š.	UNIT COST		EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$	2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$	1,500.00
0104 10 3	SEDIMENT BARRIER	LF	1358	\$	2.35	\$	3,190.50
	SOIL TRACKING PREVENTION				***************************************		
0104 15	DEVICE	EA	2	\$	1,000.00	\$	2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	1.06	\$	13,000.00	\$	13,776.07
	DEBRIS REMOVAL & DISPOSAL,				(x >=x 6 2		
120 "A"	TRUCK MEASURE - OFFSITE	CY	216	\$	683.00	\$	147,528.00
	DEBRIS REMOVAL & DISPOSAL,						
120 "B"	TRUCK MEASURE - ONSITE	CY	4		128.00	\$	512.00
0120 1	REGULAR EXCAVATION	CY	251.4	\$	12.92	\$	3,248.33
0160 4	TYPE B STABILIZATION	SY	1810	\$	24.85	\$	44,983.80
	OPTIONAL BASE, BASE GROUP 4						
	(RECYCLED CONCRETE						
0285704	AGGREGATE, LBR 150 ONLY)	SY	1509	\$	10.65	\$	16,065.64
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	1207	\$	5.24	\$	6,323.68
	PLASTIC EROSION MAT, TURF				***************************************		Commission of the Company of the Com
0571 111	REINFORCED MAT, TYPE 1	SY	1358	\$	4.75	\$	6,448.89
	SIGN PANEL, FURNISH & INSTALL		I I				
	GROUND MOUNT, LESS THAN 12	470				li	
0700 1 111	SF	EA	2	\$	750.00	\$	1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA	4	\$	1,725.00	\$	6,900.00
THE STATE OF	<u> </u>		SUB-T			\$	256,476.91

ACCESS PATH 8 (BL 08)

PAY ITEM	DESCRIPTION	UNIT	QUANTITY		UNIT COST		EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$	2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$	1,500.00
0104 10 3	SEDIMENT BARRIER	LF	1186	\$	2.35	\$	2,786.02
	SOIL TRACKING PREVENTION						
0104 15	DEVICE	EA	2	\$	1,000.00	\$	2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	0.93	\$	13,000.00	\$	12,029.58
	DEBRIS REMOVAL & DISPOSAL,		3				
120 "A"	TRUCK MEASURE - OFFSITE	CY	168	\$	683.00	\$	114,744.00
	DEBRIS REMOVAL & DISPOSAL,						
120 "B"	TRUCK MEASURE - ONSITE	CY	28	\$	128.00	\$	3,584.00
0120 1	REGULAR EXCAVATION	CY	219.5	\$	12.92	\$	2,836.51
0160 4	TYPE B STABILIZATION	SY	1581	\$	24.85	\$	39,280.89
	OPTIONAL BASE, BASE GROUP 4						
	(RECYCLED CONCRETE						
0285704	AGGREGATE, LBR 150 ONLY)	SY	1317	\$	10.65	\$	14,028.89
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	1054	\$	5.24	\$	5,521.98
	PLASTIC EROSION MAT, TURF						
0571 111	REINFORCED MAT, TYPE 1	SY	1186	\$	4.75	\$	5,631.32
	SIGN PANEL, FURNISH & INSTALL						
	GROUND MOUNT, LESS THAN 12					Î	
0700 1 111	SF	EA	2	\$	750.00	\$	1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA	4	\$	1,725.00	\$	6,900.00
The state of the s		SUB-TOTAL				\$	214,843.20

ACCESS PATH 9 (BL 09)

PAY ITEM	DESCRIPTION	UNIT	QUANTITY	my in	UNIT COST	EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$ 2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$ 1,500.00
0104 10 3	SEDIMENT BARRIER	LF	2832	\$	2.35	\$ 6,654.10
	SOIL TRACKING PREVENTION					
0104 15	DEVICE	EA	2	\$	1,000.00	\$ 2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	2.21	\$	13,000.00	\$ 28,731.32
	DEBRIS REMOVAL & DISPOSAL,				,	
120 "A"	TRUCK MEASURE - OFFSITE	CY	576	\$	683.00	\$ 393,408.00
	DEBRIS REMOVAL & DISPOSAL,					
120 "B"	TRUCK MEASURE - ONSITE	CY	8		128.00	\$ 1,024.00
0120 1	REGULAR EXCAVATION	CY	524.4	\$	12.92	\$ 6,774.70
0160 4	TYPE B STABILIZATION	SY	3775	\$	24.85	\$ 93,818.03
	OPTIONAL BASE, BASE GROUP 4					The same was a superior of the same superior of the
	(RECYCLED CONCRETE					
0285704	AGGREGATE, LBR 150 ONLY)	SY	3146	\$	10.65	\$ 33,506.44
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	2517	\$	5.24	\$ 13,188.64
	PLASTIC EROSION MAT, TURF		1		***************************************	
0571 111	REINFORCED MAT, TYPE 1	SY	2832	\$	4.75	\$ 13,449.77
	SIGN PANEL, FURNISH & INSTALL					
	GROUND MOUNT, LESS THAN 12					
0700 1 111	SF	EA	2	\$	750.00	\$ 1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA	4	\$	1,725.00	\$ 6,900.00
	The second secon		SUB-T			\$ 604,954.98

ACCESS PATH 10 (BL 10)

PAY ITEM	DESCRIPTION	UNIT	QUANTITY		UNIT COST	EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$ 2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$ 1,500.00
0104 10 3	SEDIMENT BARRIER	LF	2036	\$	2.35	\$ 4,783.52
	SOIL TRACKING PREVENTION			i i		
0104 15	DEVICE	EA	2	\$	1,000.00	\$ 2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	1.59	\$	13,000.00	\$ 20,654.47
	DEBRIS REMOVAL & DISPOSAL,					
120 "A"	TRUCK MEASURE - OFFSITE	CY	192	\$	683.00	\$ 131,136.00
	DEBRIS REMOVAL & DISPOSAL,		1			
120 "B"	TRUCK MEASURE - ONSITE	CY	24		128.00	\$ 3,072.00
0120 1	REGULAR EXCAVATION	CY	377.0	\$	12.92	\$ 4,870.22
0160 4	TYPE B STABILIZATION	SY	2714	\$	24.85	\$ 67,444.23
	OPTIONAL BASE, BASE GROUP 4					3.000
	(RECYCLED CONCRETE					
0285704	AGGREGATE, LBR 150 ONLY)	SY	2262	\$	10.65	\$ 24,087.22
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	1809	\$	5.24	\$ 9,481.09
	PLASTIC EROSION MAT, TURF			y.		Sanday Tool
0571 111	REINFORCED MAT, TYPE 1	SY	2036	\$	4.75	\$ 9,668.82
	SIGN PANEL, FURNISH & INSTALL					
	GROUND MOUNT, LESS THAN 12					
0700 1 111	SF	EA	2	\$	750.00	\$ 1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA	4	\$	1,725.00	\$ 6,900.00
			SUB-T	- 95	The second secon	\$ 289,597.56

ACCESS PATH 11 (BL 11)

PAY ITEM	DESCRIPTION	UNIT	QUANTITY		UNIT COST		EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$	2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$	1,500.00
0104 10 3	SEDIMENT BARRIER	LF	3120	\$	2.35	\$	7,331.55
	SOIL TRACKING PREVENTION						
0104 15	DEVICE	EA	2	\$	1,000.00	\$	2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	2.44	\$	13,000.00	\$	31,656.47
	DEBRIS REMOVAL & DISPOSAL,					į.	
120 "A"	TRUCK MEASURE - OFFSITE	CY	384	\$	683.00	\$	262,272.00
	DEBRIS REMOVAL & DISPOSAL,						
120 "B"	TRUCK MEASURE - ONSITE	CY	60	\$	128.00	\$	7,680.00
0120 1	REGULAR EXCAVATION	CY	577.7	\$	12.92	\$	7,464.43
0160 4	TYPE B STABILIZATION	SY	4160	\$	24.85	\$	103,369.70
	OPTIONAL BASE, BASE GROUP 4						
	(RECYCLED CONCRETE						
0285704	AGGREGATE, LBR 150 ONLY)	SY	3466	\$	10.65	\$	36,917.75
	(0.1111.000)	21.				_	44.534.30
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	2773	\$	5.24	\$	14,531.38
	PLASTIC EROSION MAT, TURF	200				,	
0571 1 11	REINFORCED MAT, TYPE 1	SY	3120	\$	4.75	\$	14,819.10
	SIGN PANEL, FURNISH & INSTALL						
	GROUND MOUNT, LESS THAN 12					1	
0700 1 111	SF	EA	2	\$	750.00	\$	1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA	4	\$	1,725.00	\$	6,900.00
1.02.1	per manner common resentante come i senticatoris	SUB-TOTAL			\$	500,442.40	

ACCESS PATH 12 (BL 12)

PAY ITEM	DESCRIPTION	UNIT	QUANTITY		UNIT COST		EXTENSION
0101 1	MOBILIZATION	LS	1	\$	2,500.00	\$	2,500.00
0102 1	MAINTENANCE OF TRAFFIC	LS	1	\$	1,500.00	\$	1,500.00
0104 10 3	SEDIMENT BARRIER	LF	348	\$	2.35	\$	818.13
	SOIL TRACKING PREVENTION						40000 11000 11000
0104 15	DEVICE	EA	2	C 177	1,000.00	\$	2,000.00
0110 1 1	CLEARING AND GRUBBING	AC	0.27	\$	13,000.00	\$	3,532.55
	DEBRIS REMOVAL & DISPOSAL,		Î				
120 "A"	TRUCK MEASURE - OFFSITE	CY	24	\$	683.00	\$	16,392.00
	DEBRIS REMOVAL & DISPOSAL,						
120 "B"	TRUCK MEASURE - ONSITE	CY	8	\$	128.00	\$	1,024.00
0120 1	REGULAR EXCAVATION	CY	64.5	-	12.92	\$	832.96
0160 4	TYPE B STABILIZATION	SY	464	\$	24.85	\$	11,535.04
	OPTIONAL BASE, BASE GROUP 4						
	(RECYCLED CONCRETE					ĺ	
0285704	AGGREGATE, LBR 150 ONLY)	SY	387	\$	10.65	\$	4,119.66
0570 1 2	PERFORMANCE TURF (BAHIA SOD)	SY	309	\$	5.24	\$	1,621.56
	PLASTIC EROSION MAT, TURF	No.					
0571 111	REINFORCED MAT, TYPE 1	SY	348	\$	4.75	\$	1,653.67
	SIGN PANEL, FURNISH & INSTALL						
	GROUND MOUNT, LESS THAN 12						
0700 1 111	SF	EA	2	\$	750.00	\$	1,500.00
751 X	PROTECTIVE BARRIER (PER DETAIL)	EA	4	\$	1,725.00	\$	6,900.00
		SUB-TOTAL					55,929.56

7/24/24 Charles Rochards

Group A	TOTAL BL 01, BL 02, BL 03, BL 04 =	\$ 1,168,556.17
Group B	TOTAL BL 05, BL 06, BL 07, BL 08, BL 09 =	\$ 1,432,401.69
Group C	TOTAL BL 10, BL 11, BL 12 =	\$ 845,969.52
All Groups	GRAND TOTAL ALL BLs	\$ 3,446,927.37

Award Criteria: The City can choose to award one or more of the Groups A, B or C. Award of each Group will be based on the lowest, responsive bidder for each Group. A bidder can be awarded one or more Groups, but no additional time will be given past the contact completion date in the solicitation. If the low bidder choose not to accept more than one group, then the award offer will be to the next lowest, responsive bidder for that group. If the bidder choose not to bid on one or more of the Groups, please enter "No Bid" in the corresponding cells in the spreadsheet.